








  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  



 







 

 



 





 

 

 

 

 

http://atmosphere.copernicus.eu/


 

 



 

𝑦(𝑡, 𝑠𝑖) = 𝜇 + 𝒙(𝑡, 𝑠𝑖)𝛽′ + 𝑢(𝑡, 𝑠𝑖) + 𝑧(𝑠𝑖) + 𝜀(𝑡, 𝑠𝑖)

′

𝑢(𝑡, 𝑠𝑖) = 𝑎 𝑢(𝑡 − 1, 𝑠𝑖) + 𝜔(𝑡, 𝑠𝑖)         

𝜈(𝑠𝑖)~𝑁(0, 𝜎𝜈2) 𝑢(𝑡, 𝑠𝑖)
𝜔(𝑡, 𝑠𝑖)𝐶𝑂𝑉(𝜔(𝑡, 𝑠𝑖), 𝜔(𝑡, 𝑠𝑖)) = 0 𝑠𝑒 𝑡 ≠ 𝑡′)𝐶𝑂𝑉 (𝜔(𝑡, 𝑠𝑖), 𝜔(𝑡, 𝑠𝑗)) = 𝐶(ℎ))𝜎𝜔2  

 

e
zw  



 z  𝑃𝑟𝑜𝑏(𝜎 > 𝑢𝜎) = 𝛼𝜎 dove 𝑢𝜎 > 0 

 0 ≤ 𝛼𝜎 ≤ 1 𝑢𝜎 = 1 𝜎𝜀 𝜎𝑧



𝜌 𝜎𝜔
𝑃𝑟𝑜𝑏(𝜌 < 𝑢𝜌) = 𝛼𝜌, 𝑃𝑟𝑜𝑏(𝜎𝜔 > 𝑢𝜎𝜔) = 𝛼𝜎𝜔       

 𝑢𝜌 = 150 𝛼𝜌 = 0.8 𝑢𝜎𝜔 = 1 𝛼𝜎𝜔 = 0,01 𝑎𝑃𝑟𝑜𝑏(𝑎 > 𝑢𝑎) = 𝛼𝑎 𝑢𝑎 = 0,8 𝛼𝑎 = 0,3𝑢𝑎 𝛼𝑎



 

 

https://www.r-inla.org/
https://cran.r-project.org/web/packages/raster/index.html
https://cran.r-project.org/web/packages/raster/index.html
https://code.mpimet.mpg.de/projects/cdo
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- 

- 

𝑷𝑾𝑬 (𝑷𝑴𝟏𝟎) = ∑(𝒑𝒊 × 𝑪𝒊)∑ 𝒑𝒊





 





 





 



 

http://aceee.org/research-report/i1801











